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DUE:  February 28
Boom-Boom Claims Processors is a company that processes automobile insurance claims for large national insurance companies.  Most claims processing is done by a large pool of permanent and temporary computer operators.  A permanent operator can process 16 claims per day, while a temporary operator can process 12 per day.  On average, the company processes at least 450 claims each day.  The company has 40 computer workstations.  A permanent operator averages about 0.5 claims with errors each day, whereas a temporary operator averages about 1.4 defective claims per day.  The company wants to limit claims with errors to 25 per day.  A permanent operator is paid $64 per day and a temporary operator is paid $42 per day.  The company wants to determine the number of permanent and temporary operators to hire in order to minimize costs. 

Solve the problem with STORM.  Report, in memo form, all the relevant values to management.
Then address the following issues in your memo (in words management can understand).  Be clear and concise when you address each issue, and explain each one in a separate paragraph.  (A hint about where you can find the answer is enclosed in parenthesis for each part.)
a)  (optimal solution – detailed report)  How many claims are processed in the optimal solution?  What would happen if management decided to process one more claim?
b)  (optimal solution – detailed report)  How many defective claims were processed in the optimal solution?  What would occur if management decided to raise the limit to 26?
c)  (optimal solution – detailed report)  How many computer workstations are being used in the optimal solution?  What would occur if management decided to add one more workstation?
(  You can work on the problem through this part until we discuss sensitivity analysis and parametric analysis in class.

d)  (sensitivity analysis)  How many computer workstations can management add before the basis of the solution will change?  
e)  (parametric analysis)  Explain exactly what will occur if management …

… raises the number of claims from 450 to 650.
… decreases the number of claims from 450 to 200.
f)  (parametric analysis)  Explain what will occur if management …

… raises the allowance on the number of defective claims from 25 to 55.  
… lowers the allowance on the number of defective claims from 25 to 20.
